Firstkanker.com

www.FirstRanker.com

»
l1

1 [go9rzt

‘awu] jo Bunpom orepdxy
"1H4SOW 0 sansuajoemg
Bumjoitmas puw ajms Apeass o) urejdxy

‘S
Butpjoy pue Fugoie| jo souwsyruBis oq) ureidxy
‘¢ Jo sopy Sumesp
swnssy VN | PUR ANS L jo Bunws juauns pue
afflmyjon (@101 ® JOJ NINDNID W JOJ DONEUIqWOS [arered
$2L26 ® JO gouniq goes Joj pasmbal wgL puv 400§
Jo Bunes ¥ qive gowe ss0jsudyl Jo Jaqunu Sy pulg
L ® jo sonsuapengd Sumonms of) uepdxg  (q)
Leo1aap Fumgms
samod [eapl ue Jo sonsUNORIEYD Sy A jemy  (¥)
-sured noy Ame dwmayry 1

®
(®
(P

(2)

www.FirstRanker.com

O0T=pxg
‘syrew (enbo Ares suonsanb [y (7)
‘-I . sy mol] [smmog ¢ @ sung
3 HAMOd
SI-¥10Z ‘NO (3 AMOFHL (IA 'W3s)

(TTT LT LI LT onnen

E09TET - Ql 43advd

(Moog Jausry Jnod Wy paq[y 2 0 oN [T pow g sadug Sepsoqog)
- (T LD
£ ¢ wivg pouLy

] .
A Firstranker's chaoice



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

www.FirstRanker.com

www.FirstRanker.com

® FirstRanker.com

L]
Iil A Firstranker's chojice

2. Attempt any two parts : 10=2=20

(a)

)

(©

What is a DC chopper? Describe the various
types of chopper configuration with neat and
appropriate diagrams.

Discuss the two transistor model of a thyristor.
Using this model, describe the various
mechanisms of turning on a thyristor.

Explain the resonant pulse commutation with the
help of circuit diagram and waveforms. Explain
the effect of accelerating diode.

3.  Afttempt ant two parns:- 10=2=20

(a)

)

(c)

121603]

A single phase half controlled bridge operated from
the 230 V, 50 HZ mains feeds a resistive load of

1003, If the firing angle is 600, Calculate,
(i)  Average output voltage
(@ rms output voltage
(i) total output power
{tv) DC output power
(v) load current at instant of tum on
What do you understand by dual converters?
Explain the operation of a 3¢ dual converter
using circulating current mode of operation. How
are firing angles of two converters controlled?
Disiuss the working of 14 full wave ac-dc converter
taking into account the effect of source inductance.
Draw the output voltage waveform for firing angle
of 300,

z [ Contd...

4.

(a)

(®)

(2)

121603)

Attempt|ant two parts:- 10=2=20

Describe the basic pringiple of working of 1¢ 1o
1| step down cycloconperter for both continuous
anfl discontinuous condictions. Make the

duction of various thyristor also.
Ddscribe 1¢ ac voltage controller with inductive
anfl resistive loads, Destribe an expression for

How that the fundamental rms value of per
output voltage of low frequency for an m
nuflse cycloconverter is given by

empy ant two parts:- 10=2=20

Discuss the working principle of a 14 series

injerter, What are the gdvantages and

dipadvantages of series jnverter.

Fyplain operation of a i ¢ bridge inverter
fiploying 1200 mode pf operation. Draw

forms of phase votages and any one line

pltage assuming star cpnnected resistance load.

he single phase quasi{square wave bridge

injverter operators from a DC supply of 200v at

a|frequency of 100 Hz and feeds a resistive
dad of 1003 calculate:

(i) Duration of the ON period if the rms value

of the load voltage is 100v.
(i) Peak supply current
(i) Awverage DC supply current
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